AN & O &

20238 =& 3 3| LBta|H LXtelZ Mt

2 Xtel A
ANAZHEAS
Chel: MSAE 2 X

=

HANY - SAIILLNLX/AMHRS - DESE
|

)

AP E A A

SN B SL(3) - HRAY - BES Ol ol & o {TmE=T}
NI =P i) 28,330,278 28,175,031 155,247
= 475,048 475,048 0
s 2,124,370 2,097,476 26,894
J| 150,696 150,696 0
== 4,036,736 3,939,830 96,906
Al 14,888,437 14,856,990 31,447
CH 600,000 600,000 0
= 6,054,991 6,054,991 0
KNSBMELSH (A - SAILHLUHEX/MHEE - NS5 15,687,711 15,729,460 A41,749
= 7,873 7,873 0
= 523,000 523,000 0
< 1,519,995 1,429,995 90,000
Al 8,803,843 8,935,592 A131,749
= 4,833,000 4,833,000 0
HEANE & XSZNELS 14,722,497 14,763, 146 240,649
= 450,000 450,000 0
== 1,337,088 1,247,088 90,000
Al 8,102,409 8,233,058 130,649
= 4,833,000 4,833,000 0
2NN & HdSAE 2435 72,786 90, 186 17,400
201 et 3| 25,316 33,116 AT7,800
03 AL2ZEH| 2,200 10,000 A7,800
OHEAE 2ESH(TEHTH ALZL)
AA 2,200,000 2,200 10,000 AT7,800
307 212t01& 22,000 31,600 A9,600
02 QIRHBAIAHE R 22,000 31,600 A9,600
OHEAE SEEAL 2 EE XJA(BEEXS 80%)
(S8H A2) 28 0= 0 9,600 29,600
DZLHY oty MSAIE & &4EIF SEZHIAY 77,060 88,000 /10,940
201 et 3| 77,060 88,000 /10,940
01 AtR2elt] 77,060 88,000 210,940
OXSAIE L A& HA(WAMEZ)
Z2& 77,060,000& 77,060 88,000 A10,940
DZLHY SR MSAIE & AEIF 2 At 72,000 79,200 AT,200
201 23| 72,000 79,200 AT,200
01 At22teld| 72,000 79,200 AT,200
ONSAIE L AEI} SALS(0AEZY)
2 72,000,0002 72,000 79,200 7,200
A AEHE g2 Y 2 1,840,884 1,893,072 A52,188
101 @I244| 19,000 23,088 24,088
04 DIt HIREXNSES 19,000 23,088 24,088
OYFAIY AZH oHH L E8 QIHH| (L S#HAHH
A4 2 19,000,000 19,000 23,088 N4,088
308 AtXISHMS0I& 1,112,5% 1,160,696 A48,100




A LXeIB M

I XAHMEAESHAY - SAIGLNHKI/ASEE - DTS
£l MSAY 2 NS EA (S| : &S
2A - HH - H(SH) - MRAIY - BES Of] &K J &3 o Hws2
11 I 2SS ZE A ELAE AL S| 1,112,596 1,160,696 248,100
O FALAZA(XNSA) M (HHIMA) (2EY
Ab24) AR 02 0 48,100 /48,100
SREAHE R el 7,319 9,240 21,921
201 L2 3| 7,319 9,240 21,921
01 At22t2ld| 7,319 9,240 21,921
OSKREAZE HLEA(0AEY)
23X 6,336,000 6,336 7,040 A704
OSKREAZE == (0AEY)
Z3& 983,000& 983 2,200 A1,217
HEAE A RIA 0 41,000 241,000
307 QI2H0| M 0 41,000 241,000
04 QIZHHAIAIE B = 0 41,000 241,000
OFSAIE 2435 A N (BXE 9I0%) (2=
Ab2t) AR 02 0 41,000 241,000
(Z)AAB0 Mal+7&212 K& 90,000 0 90,000
& 90,000 0 90,000
302 Ol o2 A= 90,000 0 90,000
& 90,000 0 90,000
02 IZII oS RESEAZ 90,000 0 90,000
OAABOl Mol 7SI 2(FELHEE AIE)
2,000,000 *45JH A~ 90,000 0 90,000
= 90,000 0 90,000
a0 EAEE 95,110 9,210 21,100
= 7,873 7,873 0
& 17,410 17,410 0
Al 69,827 70,927 21,100
=t 14,110 15,210 21,100
201 L2 3| 4,510 5,610 21,100
01 At22t2ld| 4,510 5,610 21,100
O&BHASF(0AEY)
ZA 550,0002 550 1,650 21,100
2322 L HAH(AZEX/ = S) 6,567,561 6,532,720 34,841
= 250,300 250,300 0
= 1,601,370 1,574,476 26,8%4
& 1,294,364 1,287,458 6,906
Al 2,577,520 2,576,479 1,041
CH 600,000 600,000 0
= 244,007 244,007 0
2322 & HHOHA 6,567,561 6,532,720 34,841
= 250,300 250,300 0
fas 1,601,370 1,574,476 26,894
= 1,294,364 1,287,458 6,906
Al 2,577,520 2,576,479 1,041




2A:
X{XH -
o /e

cH):

SWVEIEY '
2322 2 =

(o]
=
ZZ22 Y NAF

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST

CH 600,000 600,000 0

= 244,007 244,007 0

Y & MHorE KA 34,740 35,040 A300

201 LE23H| 28,020 28,320 A300

01 At22teld| 10,820 11,120 A300

Ogxiel EES ME L ol(ofaE2) 1,500 1,800 A300

—s0 A 900,0002 900 1,200 A300

CHSHA OF=HIOIE XIE At 40,809 41,213 A404

101 @I244| 40,809 41,213 A404

04 DIt HIREXNSES 40,809 41,213 A404
OUHEH OFZ2HI0IE XIJAIE &OIXF LS (T &roH

Ar2t) 2E 40,808,040 40,809 41,213 A4

(D)= AN I HFAL R (KN HF=CEHALUII2) 118,480 121,850 23,370

= 57,000 57,200 A200

== 23,810 24,645 A835

Al 37,670 40,005 2,335

301 EtEdEZ 30,410 32,390 21,980

= 7,000 7,500 A500

< 12,110 12,715 2605

Al 11,300 12,175 875

01 ASIEEE2ES(2DEZML) 14,000 15,000 21,000
OZ=E A ZAN FHLX I XAAS (QIHIEIS)

23 14,000,000 14,000 15,000 A1,000
= 7,000 7,500 A500
< 7,000 7,500 A500

03 MBI BEX25Z2(XILTHA) 16,410 17,390 A980
OF=E AIS|EAN HEYXe| XA (HEXAS)

2 16,410,0002 16,410 17,390 A980
< 5,110 5,215 A105
Al 11,300 12,175 875

307 212t01™ 88,070 89,460 21,390
= 50,000 49,700 300
< 11,700 11,930 A230
Al 26,370 27,830 A1,460

02 CIZHEAAIIE X 88,070 89,460 21,390
OZ=8 AlgZEHM FEXtel X2 A (e128])

2 88,070,0002 88,070 89,460 21,390
= 50,000 49,700 300
< 11,700 11,930 A230
Al 26,370 27,830 A1,460

HEAZM Ol0ICIH &2 900 3,860 22,960

201 et | 600 960 360

01 AtR2elt] 600 960 2360




A LXeIB M

. 3322 L MGH(AMSEX/ =)
tHel: 3322 ¥ AHYerd (CHol: X 2)
2A - HH - H(SH) - MRAIY - BES Of] &K J &3 o Hws2
O/ AR=EH (0l AFE ) 21X 600,000 600 960 2360
301 Ler2d&3 300 2,900 A2,600
14 J|Et2 A2 300 2,900 A2,600
OFEAFZ OI0ICIN B2 AIAZ(ESHEIH AF2E)
300 2,900 A2,600
—52% A2 0 0 1,000 A1,000
-2 A2 0 0 1,000 A1,000
—Z&ted 2 300,000 300 900 AB00
()ASEELUNRXZAI (N GSFEEFHEHUTICAIY) 86,49% 77,220 9,276
fas 38,720 34,526 4,14
= 23,838 21,347 2,541
Al 23,888 21,347 2,541
308 REXISHIMSOIA 86,49% 77,220 9,276
= 38,720 34,526 4,194
= 23,8388 21,347 2,541
Al 23,888 21,347 2,541
11 I 2HSHUSZE A ELAEAIS Y] 86,49% 77,220 9,276
ONZHE eIl XA
4% 86,496,000& 86,496 77,220 9,276
= 38,720 34,526 4,194
= 23,8388 21,347 2,541
Al 23,888 21,347 2,541
(D) ZSHFEAACXZAL (N GSFCHFHEALUXICAIY) 123,487 105,000 18,487
fas 42,887 34,500 8,387
= 40,300 35,250 5,050
Al 40,300 35,250 5,050
308 REXISHHMSOIA 123,487 105,000 18,487
= 42,837 34,500 8,387
& 40,300 35,250 5,050
Al 40,300 35,250 5,050
11 S| 2SH B AN EAIS Y| 123,487 105,000 18,487
OZSIZE HYCSY NAY
AA 123,487,000 123,487 105,000 18,487
= 42,837 34,500 8,387
& 40,300 35,250 5,050
Al 40,300 35,250 5,050
(2)HAZAFHIOIE XA (XSS HAXI2AD) 165,074 143,300 21,774
= 66,137 55,250 10,887
Al 98,937 88,050 10,887
307 QI2H0| M 165,074 143,300 21,774
fas 66,137 55,250 10,887




M SXEIZ M

M B32Z 2 MNP (MI=EX/=S)
Hell 3322 & AYeHE (cro): =2l
SA BB SR(E) - HRAY - BES Ofl Aot J| & o HimE2
Al 98,937 88,050 10,887
02 QIRHEAAMEE R 165,074 143,300 21,774
OFE&Y CIFHIOIE XIAAS
A3A 165,074,000 165,074 143,300 21,774
s 66, 137 55,250 10,887
Al 98,937 88,050 10,887
() LY LT AN (NS FCEHHEHUTI2IAY) 177,224 170,800 6,424
= 73,712 70,500 3,212
Al 103,512 100,300 3,212
307 212t01& 177,224 170,800 6,424
s 73,712 70,500 3,212
Al 103,512 100,300 3,212
02 QIRHEAAMEE R 177,224 170,800 6,424
OFEIEY dige XA
AA 177,224,000 177,224 170,800 6,424
s 73,712 70,500 3,212
Al 103,512 100,300 3,212
Y OlAHHIZ X3 10,000 25,000 A15,000
301 et Z 10,000 25,000 A15,000
14 JIEtE&Z 10,000 25,000 A15,000
OHE 0IAILIS K2 (TEHRH A2t
A3A 10,000,000 10,000 25,000 215,000
(2)BE A8 HIELA HEATRIAS 65,414 64,500 914
s 30,414 30,000 414
== 10,500 10,350 150
Al 24,500 24,150 350
307 212t01& 54,914 54,000 914
s 30,414 30,000 414
== 7,350 7,200 150
Al 17,150 16,800 350
02 QIRHBAIAHE R 54,914 54,000 914
OZS A8 "HI=LA HALR2IAIZ (2124H])
AA 54,914,000 54,914 54,000 914
s 30,414 30,000 414
== 7,350 7,200 150
Al 17,150 16,800 350
;Efj%g%ﬂal%ﬂlﬂf)(&% - SAINLLUER/ A - SA 499,912 337,757 162, 155
I=PSNES 499,912 337,757 162, 155
PEXNE 499,912 337,757 162, 155
802 BtEt=DIEt 499,912 337,757 162, 155
01 =NExZREa 251,520 250,922 598
020223 &= 115,036 114,460 576




2A: Ll B M

S XHE%%(O'I}E%HIEP)(&%-E IISLUERI/ Y - SAI S8
el BRX= (CHl: X2
2AM -3 . S2(3H) - HRA 8= Jl & o Huns2
—SMAZTHISE X2 AFE (01X
9,030&*14] 10 0 10
—Z0FAXAME H=S 98t DEAMHIA
23 XIRAFE (01X
17,7102 %14 118 0 118
—HAFAIZAIER XA AF2I(OIX)
447 490 & * 14! 448 0 448
O20219 = 136,323 136,301 22
—Z0FAXIME H=S 98t DEAHIA
EAdgt XIRAF(OIX})
21,6502 %14l 2 0 2
02 Al - EHIBXZ2b8tE= 248,392 86,835 161,557
020225 & 74,278 53,945 20,333
—20IFAXIME HEE st DEAHIA
Etdat XIR AR (01K}
11,7502 %14 12 0 12
— AN AZ LT RAAIS (0K}
209,990& 14 210 0 210
—LPGAS M & EZAFH(0IX})
127,640 %1 Al 128 0 128
—HEURLIEHE 24012 XA
9,145,230 *14] 9,146 0 9,146
—HEAUTRIEE 24012 XA (0IXH)
830 *14] 1 0 1
—S4HSAESEAMN(HZSIIBEYS)(0IX})
6,990 14 7 0 7
—ATHAOIL X =X 2 AR
457,600 *14] 458 0 458
— A THAUIH X Z=E4XI AR (OIRE)
17,0102 14 18 0 18
—ATHAUIH K AS XA
10,322,800 x 1A 10,323 0 10,323
—ATHAOIE X AZSXI2IAF(OIXF)
29,9202 * 1Al 30 0 30
O20219 = 134,046 1 134,035
—Z0FAXME H=S 98t DEAHIA
53t A 1,040, 77021%14) 1,041 0 1,041
—20IFAXIME HEE st DEAHIA
Etdst XIRAF (01X}
2,160 %14l 3 0 3
—ZAIDIA DIZ23XE XA
45,378,790 x 1Al 45,379 0 45,379
—SAIDIA DIZ2SKSE XIKLAK(0IRH
185,270 %14l 186 0 186
—AZQISSXKHE 7= L 2HAIY
66, 193,550 * 14 66,194 0 66,194
—AZOI=SEXZHE 7= L SHAKI(0IXH)
21,231,800 %14l 21,232 0 21,232
02020 &= 40,055 32,866 7,189




A LXeIZ A
M WRSS(LX2IZHMD) (& - SAIIHUEXI/AY - SIS B
che: BEXE

A T SI(BH) - HIRARY - BAS 0l &kt ol & o
—HEIZZ2X A TS A
7,149, 1903« 14 7,150
—HAZZ X AFZTHS A (Ol

38,4703 14! 39




